ITASCA COUNTY And CITY OF GRAND RAPIDS COOPERATIVE CONSTRUCTION AGREEMENT

State Aid Highway Number: <u>C.S.A.H 3</u>
Itasca County State Aid Project: <u>031-603-018</u>
Grand Rapids State Aid Project: 129-119-009

This Agreement is between Itasca County acting through its Board of Commissioners ("County") and the City of Grand Rapids acting through its City Council ("City").

Recitals

- 1. SP 031-603-018 project limits on CSAH 3 extend from TH 169 to Mornes Road; and
- 2. SP 031-603-018 includes grading, aggregate base, plant mixed bituminous, concrete curb and gutter, ADA improvements, roundabout, storm sewer, street lighting, landscaping related improvements; and
- 3. SAP 129-119-009 is associated with the proposed roundabout at CSAH 3 / 7th Ave; and
- 4. City will fund 50% of the improvements for the roundabout; and
- 5. City will maintain the street lighting and sidewalk; and
- 6. Minnesota Statutes § 162.17, authorizes the County and City to make arrangements with and cooperate with any county and city authority for the purposes of constructing, maintaining and improving CSAH's and City streets.

Agreement

1. Term of Agreement; Survival of Terms; Plans; Incorporation of Exhibits

- **1.1.** *Effective date:* This Agreement will be effective on the date the County obtains all signatures required.
- **1.2.** *Expiration date*: This Agreement will expire when all obligations have been satisfactorily fulfilled.
- **1.3.** *Survival of terms:* All clauses which impose obligations continuing in their nature and which must survive in order to give effect to their meaning will survive the expiration or termination of this Agreement, including, without limitation, the following clauses: 9. Liability; Worker Compensation Claims; 11. State Audits; 12. Government Data Practices; 13. Governing Law; Jurisdiction; Venue; and 15. Force Majeure. The terms and conditions set forth in Article 3. Maintenance Responsibilities will survive the expiration of this Agreement but may be terminated by another Agreement between the parties.
- **1.4.** *Plans, Specifications, Special Provisions:* Plans, specifications and special provisions designated by the SP 031-603-018, when completed, will be on file in the office of the County Highway Engineer, and incorporated into this Agreement by reference. ("Project Plans")
- **1.5.** *Exhibits*: Schedule "I" (Cost participation and funding breakdown) is on file in the office of the County Highway Engineer and incorporated into this Agreement by reference.

2. Construction by the County

- **2.1.** *Contract Award:* The County will advertise for bids and award a construction contract to the lowest responsible bidder according to the Project Plans.
- **2.2.** *Bid Documents furnished by County:* The County is responsible for all bid documents necessary to advertise, bid and construct the project.
- **2.3.** *Performance of Construction Engineering:* The County will perform the construction inspection and material inspection for the construction project in accordance with the state aid manual for construction, the state aid for local transportation schedule of materials control and project plans.
 - **A.** The County will provide all labor, equipment, and materials necessary to perform the construction inspection and material inspection for the contract.
 - **B.** All inspection, control of materials, and associated documentation for the construction to be performed in accordance with the construction plans, specification, and/or special provisions will be performed by County's engineer assigned to the construction.
 - C. The County will make changes in the Project Plans and contract construction which may include City participation covered under this Agreement and will enter into any necessary addenda, change orders and supplemental agreements with the County's contractor that are necessary to cause the contract construction to be performed and completed in a satisfactory manner. The County Engineer's authorized representative will inform the City Engineer of any proposed addenda, change orders and supplemental agreements to the construction contract that will affect the City participation covered under this Agreement and get concurrence from the City Engineer prior to approval of the addenda, change orders and supplemental agreements.
 - **D.** *Inspection by City:* Roundabout and street lighting construction covered under this Agreement that is within county right-of-way will be open to inspection by the City. If City believes the County construction covered under this Agreement has not been properly performed or that the construction is defective, City will inform the County Engineer's authorized representative in writing of those defects. The County will have the exclusive right to determine whether the County's contractor has satisfactorily performed the City portion of the construction covered under this Agreement.
 - E. City may request additional work or changes to the work in the plans as part of the construction contract. Such request will be made by an exchange of letter(s) with the County. If the County determines that the requested additional work or plan changes are necessary or desirable and can be accommodated without undue disruption to the project, the County will cause the additional work or plan changes to be made.
- **2.4.** *Compliance with Laws, Ordinances, Regulations:* The County will comply and cause its contractor to comply with all Federal, State and Local laws, and all applicable ordinances and regulations.
 - **A.** The County will obtain all necessary permits to complete the improvements.

3. Maintenance Responsibilities

- **3.1.** *Storm Sewers:* Maintenance and ownership of any storm sewers are as follows:
 - **A.** *County* Any storm sewer located within county right-of-way.
 - **B.** *City* Storm sewer located outside county right-of-way.

- **C.** Storm sewer outlets that serve both County and City storm sewer shall be a shared responsibility.
- **3.2.** *Sidewalks:* Maintenance and ownership of any sidewalks are as follows:
 - **A.** *County* None.
 - **B.** City All sidewalks located on the project.

Maintenance includes but is not limited to; snow and debris removal and any other maintenance activities necessary to perpetuate the walkways in a safe and useable condition.

- **3.3.** *Street Lighting*: Maintenance and ownership of the street lighting facilities is as follows:
 - A. *County* None.
 - **B.** City Any street lighting located on the project.

Maintenance includes but is not limited to; replacing faulty luminaries, knocked down or otherwise damaged poles, repairing or replacing underground facilities and wiring, repairing service cabinets, photocells, and all other miscellaneous hardware to keep the street lighting facilities in working order, cleaning and re-lamping the luminaries and if needed, painting the street lighting facilities. The City will be responsible for the hook-up cost and application to secure an adequate power supply to the service pad or pole and will pay all monthly electrical service expenses necessary to operate the street lighting facilities.

3.4. *Additional Drainage:* Neither party to this Agreement will drain any additional drainage into the storm sewer facilities constructed under the construction contract that was not included in the drainage for which the storm sewer facilities were designed, without first obtaining written permission to do so from the other party.

4. Basis of Funding

4.1. SCHEDULE "I": SCHEDULE "I" includes all anticipated County and City participation construction items and the design and construction engineering cost share covered under this Agreement.

5. Project Costs

- **5.1.** *Estimated County Costs:* \$5,003,230.40 is the County's estimated share of the costs of the contract construction labeled as SP 031-603-018 and shown in SCHEDULE "I".
- **5.2.** *Estimated City Costs:* \$731,303.00 is the City's estimated share of the costs of the contract construction labeled as SAP 129-119-009 as shown in SCHEDULE "I".
- **5.3.** Conditions of Payment by the County: The County will invoice City for all costs incurred to date for items covered by City. City will pay the County within 30 days of receipt of the invoice.

6. Authorized Representatives

Each party's Authorized Representative is responsible for administering this Agreement and is authorized to give and receive any notice or demand required or permitted by this Agreement.

6.1. The City's Authorized Representative will be:

Name/Title: Matt Wegwerth, City Engineer (or successor)

Address: 420 North Pokegama Avenue, Grand Rapids, MN 55744

Telephone: (218) 326-7625 Fax: (218) 326-7621

E-Mail: mwegwerth@ci.grand-rapids.mn.us

6.2. The County's Authorized Representative will be:

Name/Title: Karin Grandia, County Highway Engineer (or successor)

Address: 123 4th Street NE, Grand Rapids, MN 55744

Telephone: (218) 327-2853

E-Mail: <u>Karin.Grandia@co.itasca.mn.us</u>

7. Assignment; Amendments; Waiver; Contract Complete

7.1. Assignment: Neither party may assign or transfer any rights or obligations under this Agreement without the prior consent of the other party and a written assignment agreement, executed and approved by the same parties who executed and approved this Agreement, or their successors in office.

- **7.2.** *Amendments:* Any amendment to this Agreement must be in writing and will not be effective until it has been executed and approved by the same parties who executed and approved the original Agreement, or their successors in office.
- **7.3.** *Waiver:* If a party fails to enforce any provision of this Agreement, that failure does not waive the provision or the party's right to subsequently enforce it.
- **7.4.** *Contract Complete:* This Agreement contains all prior negotiations and agreements between the County and City. No other understanding regarding this Agreement, whether written or oral, may be used to bind either party.

8. Liability; Worker Compensation Claims; Insurance

- **8.1.** Each party is responsible for its own acts, omissions and the results thereof to the extent authorized by law and will not be responsible for the acts and omissions of others and the results thereof. Minnesota Statutes Chapter 466 and other applicable law govern liability of the County and City. Notwithstanding the foregoing, The City and the County shall each at their own sole cost and expense defend, indemnify, save and hold harmless the other and all of its agents, officers and employees of and from all
- **8.2.** claims, demands, proceedings, actions or cause of action of whatsoever nature or character arising out of or by reason of contract construction, construction engineering and/or maintenance covered under this agreement, including an action or claim which alleges negligence of the One Party, its agents, officers and employees.
- **8.3.** Each party is responsible for its own employees for any claims arising under the Workers Compensation Act.
- **8.4.** To the full extent permitted by law, actions by the Parties pursuant to this Agreement are intended to be and shall be construed as a "cooperative activity" and it is the intent of the Parties that they shall be deemed a "single governmental unit" for the purpose of liability, as set forth in Minnesota Statutes, Section 471.59, Subd. 1a, provided further that for purposes of that statute, each Party to this Agreement expressly declines responsibility for the acts or omissions of the other Party.

9. Nondiscrimination

Provisions of Minnesota Statutes § 181.59 and of any applicable law relating to civil rights and discrimination are considered part of this Agreement.

10. State Audits

Under Minnesota Statutes § 16C.05, subdivision 5, the City's books, records, documents, and accounting procedures and practices relevant to this Agreement are subject to examination by the State and the State Auditor or Legislative Auditor, as appropriate, for a minimum of six years from the end of this Agreement.

11. Government Data Practices

The County and City, must comply with the Minnesota Government Data Practices Act, Minnesota Statutes Chapter 13, as it applies to all data provided under this Agreement, and as it applies to all data created, collected, received, stored, used, maintained, or disseminated by the County and City under this Agreement. The civil remedies of Minnesota Statutes §13.08 apply to the release of the data referred to in this clause by either the County and City.

12. Governing Law; Jurisdiction; Venue

Minnesota law governs the validity, interpretation and enforcement of this Agreement. Venue for all legal proceedings arising out of this Agreement, or its breach, must be in the appropriate state or federal court with competent jurisdiction in Itasca County, Minnesota.

13. Termination.

13.1. By Mutual Agreement. This Agreement may be terminated by mutual agreement of the parties.

14. Force Majeure

Neither party will be responsible to the other for a failure to perform under this Agreement (or a delay in performance), if such failure or delay is due to a force majeure event. A force majeure event is an event beyond a party's reasonable control, including but not limited to, unusually severe weather, fire, floods, other acts of God, labor disputes, acts of war or terrorism, or public health emergencies.

ITASCA COUNTY

The undersigned certify that they have lawfully executed this contract on behalf of the Governmental Unit as required by applicable charter provisions, resolutions or ordinances.

Approved:	Approved:
By:(County Board Chair)	By:(Mayor of Grand Rapids)
Date:	Date:
By:(Clerk to the County Board)	By:(City Clerk)
Date:	Date:
By:(County Engineer)	By:(City Engineer)
Date:	Date:

CITY OF GRAND RAPIDS

ordinances.

The undersigned certify that they have lawfully executed this contract on behalf of

applicable charter provisions, resolutions or

the Governmental Unit as required by

SCHEDULE I CSAH 3 ROAD REHAB & 7TH AVENUE ROUNDABOUT ITASCA COUNTY, MINNESOTA S.P. 031-603-018 (CSAH 3), S.A.P. 129-119-009 (7th Avenue)

May 16, 2022

Į												
1 1	MNDOT	Mari	Ė	FINE	S.A.P. 129-119-009	1119-009	S.P. 031	S.P. 031-603-018	S.P 031-603-018 SEWER)	8 (STORM /ER)	TOTAL	TOTAL
=		E U		T NO	QUANTITIES	BID COST	QUANTITIES	BID COST	QUANTITIES	BID COST	QUANTITY	COST
-	2021.501	MOBILIZATION	LUMPSUM	\$237,667.72	0.1	\$23,766.77	6.0	\$213,900.95			1.00	\$237,667.72
2	2101.502	CLEARING	EACH	\$75.00	5	\$375.00	2	\$375.00			10	\$750.00
3	2101.502	GRUBBING	EACH	\$325.00	5	\$1,625.00		\$1,625.00			10	\$3,250.00
4	2102.518	PAVEMENT MARKING REMOVAL	SQ FT	\$5.00	70	\$350.00	20	\$350.00			140	\$700.00
2	2104.502	REMOVE MANHOLE OR CATCH BASIN	EACH	\$550.00	3	\$1,650.00	17	\$9,350.00			20	\$11,000.00
9	2104.502	REMOVE SIGN	EACH	\$75.00	7	\$525.00	2	\$150.00			<u></u> б	\$675.00
7	2104.502	REMOVE LIGHTING UNIT	EACH	\$250.00			τ,	\$250.00			τ,	\$250.00
φ ,	2104.502	REMOVE LIGHT FOUNDATION	EACH	\$730.00	ď	0	10	\$730.00			- 3	\$730.00
6	2104.502	SALVAGE SIGN	EACH	\$75.00	9	\$450.00	25	\$1,875.00			31	\$2,325.00
10	2104.502	SALVAGE SIGN TYPE SPECIAL	EACH	\$50.00			91 0	\$1,380.00			10	\$1,360.00
- 5	2104.502	SALVAGE MAIL BOX SUPPORT	EACH	\$100.00	3 0	\$50.00	040	\$4,000.00			04 7	\$2,000.00
13	2104.302	SALVAGE BENCH REMOVE BOIL ARDS	E E	\$60.00	S 65	\$180.00		\$180.00			- હ	\$360.00
14	2104.502	REMOVE SIGNAL SYSTEM	FACH	\$30,200.00	0.5	\$15,100.00	0.5	\$15,100.00			o -	\$30,200,00
15	2104.502	REMOVE CASTING	EACH	\$60.00					22	\$4,620.00	77	\$4,620.00
16	2104.503	REMOVE CURB & GUTTER	LIN FT	\$3.90		\$2,753.40		\$56,858.10			15285	\$59,611.50
17	2104.503	REMOVE SEWER PIPE (STORM)	LIN FT	\$17.00	243	\$4,131.00	526	\$8,942.00			692	\$13,073.00
18	2104.503	REMOVE FENCE	LIN FT	\$10.00		\$1,570.00		\$1,570.00			314	\$3,140.00
19	2104.504	REMOVE CONCRETE WALK	SQ YD	\$8.75		\$3,937.50		\$33,241.25			4249	\$37,178.75
20	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SQ YD	\$10.75			838	\$9,008.50			838	\$9,008.50
21	2104.504		SQ YD	\$8.00			478	\$3,824.00			478	\$3,824.00
22	2104.618	REMOVE AND REPLACE BITUMINOUS PAVEMENT	SQFT	\$9.25				\$48,960.25			5293	\$48,960.25
23	2106.507	EXCAVATION - COMMON (P)	CU YD	\$22.00	2559	\$56,298.00		\$116,864.00			7871	\$173,162.00
24	2106.507	SELECT GRANULAR EMBANKIMEN I (CV) (P)	COAD	\$20.30		\$20,009.00		\$20,009.00			9867	\$33,218.00
26	2173 610	TRACTOR MOUNTED BACKHOE	200	\$200.00		\$1,000,00	35	\$2,37,3.00			40	\$3,373.00
27	2123.610	SKID LOADER	HOUR	\$300.00	o rc	\$1,500.00	35	\$10,500.00			40	\$12,000.00
28	2211.507	AGGREGATE BASE (CV) CLASS 5 (P)	CUYD	\$33.00		\$23,265.00	4639	\$153,087.00			5344	\$176,352.00
29	2231.604	BITUMINOUS PATCH SPECIAL	SQ YD	\$55.00			455	\$25,025.00			455	\$25,025.00
30	2232.504	MILL BITUMINOUS SURFACE (2.0")	SQ YD	\$1.53	247	\$377.91	37969	\$58,092.57			38216	\$58,470.48
31	2232.504	MILL BITUMINOUS SURFACE (3.5")	SQ YD	\$1.74				\$52,755.06			30319	\$52,755.06
32	2232.504	MILL BITUMINOUS SURFACE (6.0")	SQ YD	\$3.10		\$7,802.70		\$107,923.40			37331	\$115,726.10
33	2301.602	DRILL & GROUT REINF BAR (EPOXY COATED)	EACH	\$16.00		\$1,552.00		\$8,992.00			629	\$10,544.00
34	2360.509	TYPE SP 9.5 WEAR COURSE MIX (3,C)	NOT	\$69.77	366	\$31,029.48	16359	\$1,386,916.02			16725	\$1,417,945.50
36	2411 619	APCINITECTURAL CONCRETE TEXTLUBE (SPECIAL)	NO. 2	\$1.35		\$41,279.00		\$322,120.09			4922	\$343,407.34
37	2411.618	ARCHITECTORAL CONCRETE TEXTORE (SPECIAL) ARCHITECTURAL COLOR SYSTEM	SOYN	\$26.55		\$9,433.65		\$9,453.65			734	\$19,487.70
38	2501.502	15" RC PIPE APRON	EACH	\$800.00		\$400,00			0.50	\$400.00	-	\$800,00
39	2502.503	4" PERF PE PIPE DRAIN	LIN FT	\$14.00		\$1,610.00			115	\$1,610.00		\$3,220.00
40	2503.503	12" RC PIPE SEWER	LIN FT	\$88.00	1	\$13,332.00			387.50	\$34,100.00	539	\$47,432.00
41	2503.503	15" RC PIPE SEWER	LIN FT	\$86.00		\$12,513.00			145.50	\$12,513.00		\$25,026.00
42	2503.503	18" RC PIPE SEWER	LIN FT	\$103.00		\$2,472.00			24	\$2,472.00		\$4,944.00
43	2503.503	24" RC PIPE SEWER	LIN FT	\$105.00		\$6,562.50			62.50	\$6,562.50		\$13,125.00
44	2503.503	30" RC PIPE SEWER	LIN FI	\$130.00		\$5,616.00			45	\$7,020.00	81	\$12,636.00
4 0 4	2503.502	A DILICT VALVE BOX	EACH	\$500.00		\$5,000.00	Ľ	\$2 500 00	200	950,000,000		\$3,000.00
40	2504.502	CASTING ASSEMBLY	EACE	\$1.200.00		\$28 800 00		\$2,300.00	77	\$92 400 00	101	\$3,000.00
48	2506.502	ADILIST FRAME & RING CASTING	FACH	\$850.00	2	\$1,700.00	14	\$11,900,00		00:001:300	16	\$13,600.00
49	2506.503	CONSTRUCT DRAINAGE STRUCTURE DES 48-4020	IN FI	\$795.00	22.07	\$17,545.65		2	52.43	\$41.681.85		\$59,227.50
20	2506.503	CONSTRUCT DRAINAGE STRUCTURE DES 60-4020	LIN FT	\$1,040.00		\$14,861.60			21.31	\$22,162.40		\$37,024.00
51	2506.503	CONSTRUCT DRAINAGE STRUCTURE DES 72-4020	LIN FT	\$1,320.00		\$20,262.00			15.35	\$20,262.00		\$40,524.00
52	2506.503	CONSTRUCT DRAINAGE STRUCTURE DES G	LIN FT	\$970.00		\$29,439.50				\$92,489.50		\$121,929.00
53	2521.518	4" CONCRETE WALK	SQ FT	\$7.50		\$35,752.50		\$315,907.50				\$351,660.00
54	2521.518	6" CONCRETE WALK	SQ FT	\$9.50	1251	\$11,884.50		\$60,106.50			7578	\$71,991.00
55	2521.518	8" CONCRETE WALK	SQ FT	\$10.00	3299	\$32,990.00	3299	\$32,990.00			6598	\$65,980.00
26	2531.503		LIN FT	\$19.50				\$236,418.00			12124	\$236,418.00
57	2531.503	CONCRETE CURB AND GUTTER DESIGN B618	E I	\$19.50	123	\$2,398.50		\$43,777.50			2368	\$46,176.00
20 00	2531.503	7" CONCRETE CURB AND GOLLIER DESIGN SSLS 7" CONCRETE DRIVEWAY PAVEMENT	I CX	\$83.00	1671	\$23,174.30	1133	\$23,174.30			1133	\$94,039,00
8	2531.618	TRUNCATED DOMES	SOFI	\$55.00	180	00 006 68	786	\$43,230,00			996	\$53,130,00
>	400+004	יייייייייייייייייייייייייייייייייייייי			22	*****	221	· · · · · · · · · · · · · · ·			>>>	,

SCHEDULE I CSAH 3 ROAD REHAB & 7TH AVENUE ROUNDABOUT ITASCA COUNTY, MINNESOTA S.P. 031-603-018 (CSAH 3), S.A.P. 129-119-009 (7th Avenue)

May 16, 2022

i.	ŀ	i.		-119-009	S.P. 031	1-603-018	S.P 031-603-01 SEM	IS (STORM VER)	TOTAL	TOTAL
	Ž	UNII PRICE	QUANTITIES	BID COST	QUANTITIES	BID COST	QUANTITIES	BID COST	QUANTITY	COST
	EACH	\$500.00		\$250.00	0.5	\$250.00			1	\$500.00
	EACH	\$150.00			40	\$6,000.00			40	\$6,000.00
	LUMPSUM	\$70,645.00			1	\$70,645.00			1	\$70,645.00
	LUMPSUM	\$107,980.00	0.5	\$53,990.00	0.5	\$53,990.00			- 1	\$107,980.00
	LUMPSUM	\$123,270.00			1	\$123,270.00			1	\$123,270.00
	LUMPSUM	\$99,975.00			1	\$99,975.00			1	\$99,975.00
	EACH	\$5,455.00		\$2,727.50	0.5	\$2,727.50			1	\$5,455.00
COATED	LIN FT	\$47.15	77	\$3,630.55	77	\$3,630.55			154	\$7,261.10
	LUMPSUM	\$91,500.00	0.10	\$9,150.00	6.0	\$82,350.00			1	\$91,500.00
	EACH	\$300.00			16	\$4,800.00			16	\$4,800.00
	EACH	\$225.00	9	\$1,350.00	25	\$5,625.00			31	\$6,975.00
	EACH	\$100.00	2	\$500.00					2	\$500.00
	SQ FT	\$110.00	240	\$26,400.00	34	\$3,740.00			274	\$30,140.00
	EACH	\$650.00	4	\$2,600.00	4	\$2,600.00			8	\$5,200.00
	EACH	\$550.00	4	\$2,200.00	3	\$1,650.00			7	\$3,850.00
	LIN FT	\$4.50	188	\$846.00	188	\$846.00			376	\$1,692.00
	EACH	\$140.00		\$1,960.00	105	\$14,700.00			119	\$16,660.00
	LUMPSUM	\$5,000.00		\$500.00	6.0	\$4,500.00			1	\$5,000.00
OD FIBER	LIN FT	\$5.25		\$26.25	125	\$656.25			130	\$682.50
	ACRE	\$500.00		\$150.00	2.4	\$1,200.00			2.7	\$1,350.00
	CUYD	\$60.00		\$18,000.00	200	\$12,000.00			200	\$30,000.00
	LB	\$4.00		\$268.00	493	\$1,972.00			560	\$2,240.00
	ACRE	\$1,200.00	0.3	\$360.00	2.4	\$2,880.00			2.7	\$3,240.00
	M GAL	\$550.00		\$6,600.00	72	\$39,600.00			84	\$46,200.00
	LB	\$6.50		\$650.00	953	\$6,194.50			1053	\$6,844.50
ATRIX	LB	\$1.90		\$2,411.10	9584	\$18,209.60			10853	\$20,620.70
TEGORY 20	SQ YD	\$2.50		\$557.50	786	\$1,965.00			1009	\$2,522.50
	ACRE	\$2,000.00		\$600.00	2.4	\$4,800.00			2.7	\$5,400.00
	LIN FT	\$0.58		\$371.78	641	\$371.78			1282	\$743.56
	LIN FT	\$10.50			90	\$945.00			90	\$945.00
T-	LIN FT	\$11.00		\$209.00	19	\$209.00			38	\$418.00
ENT	LIN FT	\$0.58		\$11.60	20	\$11.60			40	\$23.20
VENT	LIN FT	\$17.00		\$1,768.00	104	\$1,768.00			208	\$3,536.00
MPONENT	LIN FT	\$1.16	245	\$284.20	18934	\$21,963.44			19179	\$22,247.64
IT GROUND IN (WR)	LIN FT	\$1.10		\$812.90	36071	\$39,678.10			36810	\$40,491.00
THERMOPLASTIC GROUND IN	SQ FT	\$28.00		\$2,772.00	62	\$1,736.00			161	\$4,508.00
	SQ FT	\$21.00		\$8,190.00	390	\$8,190.00			780	\$16,380.00
	SQ FT	\$17.00		\$1,207.00	71	\$1,207.00			142	\$2,414.00
	INSTALL BENCH INSTALL BENCH INSTALL BENCH INSTALL MAIL BOX SUPPORT LIGHTING SYSTEM "A" LIGHTING SYSTEM "A" LIGHTING SYSTEM "B" TRAFFIC CONTROL INSTALL SIGN INSTALL SIGN INSTALL SIGN DELINEATOR I FROTECTION SIGN CONFEROUS TREE 6" HT 8&8 DECIDIOUS TREE	INYL CCATED ON IT WOOD FIBER WOOD FIBER MATRIX CATEGORY 20 CATEGORY 20 ENT ENT ENT ENT ENT ENT ENT ANDIENT ONENT ONENT THERMOPLASTIC GROUND IN OPLASTIC GROUND IN	NUTT NUTT	MIT NIT PRICE	Number N	Number N	Marine Unit Price Each \$550.00 0.5 \$250.00 0.5	Mathematical Part Math	Band	Columbia Columbia

\$5,254,000.00

\$368,293.25

\$4,216,264.01 \$205,665.82 \$213,007.32

\$669,442.74 \$30,031.58 \$31,828.68

Construction Total
Design Engineering
Construction Engineering

\$731,303.00

City of GR Participation Itasca County Participation

\$5,003,230.40